

Jeffreys' priors

uniformative priors

①

$$p(\theta) = \text{unif}([0,1]) \Rightarrow p(\text{open}(\theta)) = \frac{n+1}{n+2}$$

$$p(\theta) = \text{Beta}(0,0) = \frac{1}{\theta(1-\theta)}$$

$$\eta = \varphi(\theta) = \log \frac{\theta}{1-\theta}$$

$$p(\theta) = \text{unif}([0,1])$$

$$\theta = p(\text{open} | \eta) = \sigma(\eta) = \frac{1}{1+e^{-\eta}}$$

$$\eta = \log \frac{\theta}{1-\theta}$$

$$\int p_2(\eta) d\eta = p(A) = \int_A p(\theta) d\theta =$$

$$p_2(\eta) = \frac{p_\theta(\theta)}{|\varphi'(\theta)|}$$

$$= \int_{\varphi^{-1}(A)} p(\varphi^{-1}(\eta)) \cdot \frac{d\eta}{|\varphi'(\eta)|}$$

$$p_\theta(\theta) = p_2(\eta) \cdot |\varphi'(\theta)|$$

$$p_2(\eta) = \frac{p_\theta(\varphi^{-1}(\eta))}{|\varphi'(\varphi^{-1}(\eta))|} = \frac{1 \cdot \left(\frac{1}{1+e^{-\eta}}\right)}{\frac{1-\theta}{\theta}}$$

$$= \frac{1}{e^{-\eta}} \cdot \frac{e^{-\eta}}{(1+e^{-\eta})^2} = \frac{1}{(1+e^{-\eta})^2}$$

②

Jeffreys' prior

$p_\theta(\theta)$ - JP, ekan

gaa roba'i za mawar- θ -yuu h , $\eta = h(\theta)$,

$$p_2(\eta) = \frac{p_\theta(h^{-1}(\eta))}{|h'(h^{-1}(\eta))|}$$

$$I(\theta) = E\left[\left(\frac{\partial \log p}{\partial \theta}\right)^2\right]$$

Improper priors

$$p(\theta) = \text{const} \cdot \sqrt{I(\theta)}$$

$$\eta = h(\theta)$$

$$\begin{aligned}
 I_{\theta}(\theta) &= \int \left(\frac{\partial \log p_{\theta}(x|\theta)}{\partial \theta} \right)^2 p_{\theta}(x|\theta) dx = \\
 &= \int \left(\frac{\partial}{\partial \theta} \log p_{\eta}(x|h(\theta)) \right)^2 p_{\eta}(x|h(\theta)) dx = \\
 &= \int \left(h'(\theta) \cdot \frac{\partial}{\partial \eta} \log p_{\eta}(x|\eta) \right)^2 p_{\eta}(x|h(\theta)) dx = \\
 &= (h'(\theta))^2 \cdot \int \left(\frac{\partial}{\partial \eta} \log p_{\eta}(x|\eta) \right)^2 p_{\eta}(x|\eta) dx = \\
 &= (h'(\theta))^2 \cdot I_{\eta}(\eta)
 \end{aligned}$$

$$\begin{aligned}
 p_{\eta}(\eta) &= p_{\eta}(h(\theta)) = \text{const} \cdot \sqrt{I_{\eta}(h(\theta))} = \text{const} \cdot \frac{\sqrt{I_{\theta}(\theta)}}{|h'(\theta)|} = \\
 &= \frac{p_{\theta}(\theta)}{|h'(h^{-1}(\eta))|}
 \end{aligned}$$

3 Математика

$$\begin{aligned}
 I(\theta) &= E \left[\left(\frac{\partial \log p_{\theta}(x|\theta)}{\partial \theta} \right)^2 \right] = \\
 &= \frac{\partial (x \log \theta + (1-x) \log(1-\theta))}{\partial \theta} = \left(\frac{x}{\theta} - \frac{(1-x)}{1-\theta} \right) \\
 &= \theta \cdot \left(\frac{1}{\theta} \right)^2 + (1-\theta) \cdot \left(\frac{1}{1-\theta} \right)^2 = \frac{1}{\theta} + \frac{1}{1-\theta} = \frac{1}{\theta(1-\theta)}
 \end{aligned}$$

$$p(\theta) \propto \frac{1}{\sqrt{\theta(1-\theta)}}, \quad p(\theta) = \text{Beta}(\theta | \frac{1}{2}, \frac{1}{2})$$

4 $\bar{\theta}, \bar{\eta} \in \mathbb{R}^d$

$$p(\bar{\theta}) \propto \sqrt{\det I(\bar{\theta})}$$

$$p_{\eta}(\bar{\eta}) = p_{\theta}(\bar{\theta}) \cdot \left| \det \frac{\partial \theta_i}{\partial \eta_j} \right| \propto \sqrt{\det I(\bar{\theta})} \cdot (\det J)^2 =$$

$$= \sqrt{\det(\mathbf{J}^T \cdot \mathbf{I}(\theta) \cdot \mathbf{J})} = \sqrt{\det \mathbf{I}(\bar{y})}$$

$$A_{ij} = E \left[\sum_{k,l} \frac{\partial \theta_k}{\partial y_i} \cdot \frac{\partial \theta_l}{\partial y_j} \cdot \frac{\partial \log p(\theta)}{\partial \theta_k} \cdot \frac{\partial \log p(\theta)}{\partial \theta_l} \right] =$$

$$= E \left[\frac{\partial \log p(\theta)}{\partial y_i} \cdot \frac{\partial \log p(\theta)}{\partial y_j} \right] = \mathbf{I}(\bar{y})$$

5) Гауссов $\theta = \begin{pmatrix} \mu \\ \sigma^2 \end{pmatrix}$ $p(\theta) = \text{Const} \cdot \sqrt{\det \mathbf{I}(\theta)}$

$$\mathbf{I}(\theta) = E \left[\begin{pmatrix} \frac{\partial^2 \log p}{\partial \mu^2} & \frac{\partial^2 \log p}{\partial \mu \partial \sigma^2} \\ \frac{\partial^2 \log p}{\partial \mu \partial \sigma^2} & \frac{\partial^2 \log p}{\partial (\sigma^2)^2} \end{pmatrix} \right]$$

$D = \{x_1, \dots, x_n\}$
 $n \cdot s^2 = \sum x_i^2 - 2\bar{x} \cdot \sum x_i + \bar{x}^2 \cdot n$
 $s^2 = \frac{1}{n} \sum (x_i - \bar{x})^2$
 $\bar{x} = \frac{1}{n} \sum x_i$

$$\log p = \text{const} - \frac{n}{2} \log \sigma^2 - \frac{1}{2\sigma^2} \sum_{i=1}^n (x_i - \mu)^2 =$$

$$= \text{const} - \frac{n}{2} \log \sigma^2 - \frac{1}{2\sigma^2} (n \cdot s^2 + n(\bar{x} - \mu)^2)$$

$$n \cdot \mu^2 - 2\mu \cdot \sum x_i + \sum x_i^2 =$$

$$= n \cdot \mu^2 - 2\mu \cdot n \cdot \bar{x} + n \cdot s^2 + 2n \cdot \bar{x} \mu - n \cdot \bar{x}^2 =$$

$$= n \cdot s^2 + n(\bar{x} - \mu)^2$$

$$\frac{\partial \log p}{\partial \mu} = + \frac{n(\bar{x} - \mu)}{\sigma^2}$$

$$\frac{\partial \log p}{\partial \sigma^2} = - \frac{n}{2\sigma^2} + \frac{n \cdot s^2 + n(\bar{x} - \mu)^2}{4\sigma^4}$$

$$\frac{\partial^2 \log p}{\partial \mu^2} = - \frac{n}{\sigma^2}, \quad \frac{\partial^2 \log p}{\partial \mu \partial \sigma^2} = - \frac{n(\bar{x} - \mu)}{\sigma^4}$$

$$\frac{n}{2\sigma^4} - \frac{\frac{\partial^2 n}{\partial \sigma^4}}{2\sigma^4} = - \frac{n}{2\sigma^4}$$

$$\frac{\partial^2 \log p}{\partial \theta^2} = \frac{n}{2\sigma^4} - \frac{E \left(\frac{n\sigma^2 + n(\bar{x} - \mu)^2}{2\sigma^6} \right)}$$

$$I(\bar{\theta}) = E \left[\begin{pmatrix} \frac{n}{\sigma^2} & \frac{n(\bar{x} - \mu)}{\sigma^4} \\ -\frac{n}{2\sigma^4} & -\frac{n}{2\sigma^6} \end{pmatrix} \right]$$

$$I(\bar{\theta}) = \begin{pmatrix} n/\sigma^2 & 0 \\ 0 & n/2\sigma^4 \end{pmatrix}$$

$$\det I(\bar{\theta}) = \frac{n^2}{2\sigma^6}$$

$$p(\bar{\theta}) = f(\mu, \sigma^2) \propto \frac{1}{\sigma^3}$$

inverse chi-squared distribution

6) Экспоненциальные семейства

Exponential family: natural - can be $p(x|\bar{\theta})$ natural param. can

$$p(x|\bar{\theta}) = h(x) \cdot e^{\bar{\eta}(\bar{\theta})^T \bar{t}(x) - a(\bar{\theta})} = h(x) g(\bar{\theta}) e^{\bar{\eta}(\bar{\theta})^T \bar{t}(x)}$$

где напомним h, \bar{t}, a, g $g(\bar{\theta}) = e^{-a(\bar{\theta})}$

$\bar{t}(x)$ - sufficient statistics

$$\text{Binom}(k | n, p) = \binom{n}{k} p^k (1-p)^{n-k} =$$

$$= \binom{n}{k} \cdot e^{\underline{k \cdot \log \frac{p}{1-p} + (n-k) \log(1-p)}} = \binom{n}{k} e^{k \cdot \log \frac{p}{1-p} + \underline{n \cdot \log(1-p)}}$$

$$t(k) = k \quad h(k) = \binom{n}{k}, \quad a(p) = -n \log(1-p)$$

$$\eta(p) = \log \frac{p}{1-p}$$

log-odds

$$p = \frac{1}{1 + e^{-\eta}}$$

$$\text{Mult}(\bar{x} | n, p_1, \dots, p_k) = \frac{n!}{x_1! x_2! \dots x_k!} \cdot e^{\sum_{k=1}^k x_k \log p_k} \quad \text{--- } a(\bar{x}) = 0$$

$t(\bar{x}) = \bar{x} \quad \bar{v}(\bar{p}) = \log \bar{p}$

$$= h(\bar{x}) \cdot e^{\sum_{k=1}^{k-1} x_k \log p_k + (n - \sum_{k=1}^{k-1} x_k) \log(1 - \sum_{k=1}^{k-1} p_k)} =$$

$$= h(\bar{x}) \cdot e^{\sum_{k=1}^{k-1} x_k \log \frac{p_k}{1 - \sum_{k=1}^{k-1} p_k} + n \log(1 - \sum_{k=1}^{k-1} p_k)} = -a(\bar{p})$$

$$t(\bar{x}) = \bar{x}_{1-k-1}$$

$$\eta_i(\bar{p}) = \log \frac{p_i}{1 - \sum_{k=1}^{k-1} p_k} = \log \frac{p_i}{p_k}$$

$$e^{\eta_i} = \frac{p_i}{p_k} = \frac{p_i}{1 - \sum_{k=1}^{k-1} p_k}$$

$$e^{\eta_i} - e^{\eta_i} \left(\sum_{j=1}^{k-1} p_j \right) = p_i$$

$$\sum_{i=1}^{k-1} p_i = \sum_{i=1}^{k-1} e^{\eta_i} - () ()$$

$$\sum_{i=1}^{k-1} p_i = \left(\sum_{i=1}^{k-1} e^{\eta_i} \right) \cdot \left(1 - \sum_{i=1}^{k-1} p_i \right)$$

$$\sum p_i = \frac{\sum_{i=1}^{k-1} e^{\eta_i}}{1 + \sum_{i=1}^{k-1} e^{\eta_i}}$$

$$e^{\eta_i} \left(1 - \frac{\sum_{j=1}^{k-1} e^{\eta_j}}{1 + \sum_{j=1}^{k-1} e^{\eta_j}} \right) = \frac{e^{\eta_i}}{1 + \sum_{j=1}^{k-1} e^{\eta_j}} = \frac{e^{\eta_i}}{\sum_{j=1}^k e^{\eta_j}}$$

$$p_i = \frac{e^{\eta_i}}{\sum_j e^{\eta_j}}$$

$$\bar{p} = \text{softmax}(\bar{\eta})$$

$$p(x|\lambda) = \frac{1}{x!} \lambda^x e^{-\lambda} = \frac{1}{x!} e^{x \log \lambda - \lambda}$$

$h(x) \quad \eta(x) \quad a(\lambda)$

$$p(k | n, k, N) \propto \binom{N}{k} \binom{N-k}{n-k}$$